[image: ]
[image: ]
image1.png
Example 2 Solution

>§E§3§§IE‘EI&_P;. Draw a diagram to show
angle of depression of the boat from the top the information. Let A, in
of the clift is 33°. Find the height of the clitf metres, represent the

height of the cliff. Thus,

n tha nasract matra.

A
LI n
755~ @0
h = 230(tan 33°)
= 230(0.6494) P c

. =194 (to 1 decimal place)
ﬂ—.%ﬁinitdaﬂra?niﬂﬂﬂ
metre.

Written Exercises
For the following problems, express .o..i..wu to

1 decimal place and angles to the nearest -
degree. B

?‘E_ is the building?

high Is the cliff? The

nls.ﬂoﬁ—o:F;oa. A h
. L

"| 5 use the data inthe
diagram. How high is the

|

Q 6 The diagram shows a ski lift, Find the height

w high is the weather .
Qu:&% The angle of of the mountain. -
elevation is 43°.
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B7 A house gable has the rafter 7.8 m long and a
span of 9.5 m.
(a) Find the angle of elevation.
(b) Find the rise, h.

7.8m,

'rom a point 132 m above the ground in a
‘control tower, the angle of depression of an
airplane is 38°. How far is the airplane from the
observer In the control tower?

e»vnl—-ussiasnu!io:n_: 1t the
'cliff 1s 180 m high, find the angle of elevation
of the top of the cliff from the boat.

@g.ue:aﬁa.s.taas.u!n.
‘monument, the angle af elevation of the top is
. 27 Calculate te height of the monument.
?Sﬂﬂsﬂga the angle of

Jolevation of the Eitfel Tower to be 63°, She was
7.7  from the base of the tower when she
made this measurement. How high is the Eiffel

Tower?

Ata concert, Tony s sitting 40 m away from
the stage. He is 10 m above the level of the
stage. At what angle of depression is he
watching the group?

@?i__!.sss pole in the world s at Alert
‘Bay, Vic measured the angle of elevation of the
10p of the pole to be 36°. If Vic was standing
Ea.aas-ve.p:?ze:ws-!!.
pole?

" .?:8;_ a building measures 8 m from the

angle of inclination of the root.

15 The tallest chimney in me woria is at me
International Nickel Co. in Sudbury. From a
distance 1.5 km away the angle of elevation of
the top is 15° Find the height of the chimney,
1o the nearest metre.

16 A steel cable is attached to the 1op of a
television mast. The cable is also attached to
the ground at a point 9.8 m from the base of the
mast and makes an angle of elevation of 65°.
(a) Find the length of the cable.
(b) Find the height of the pole.

@mscilul-gx:a.k_aas’.nlgn_-
of elevation of the top of a nearby hydro tower
is 32° and the angle of depression to the bottom
is 24°. How high is the hydro tower?

Calculator Tip
Use the trigonometric values on your calculator

1o find A to 1 decimal place.
ﬁ.
1= (30.8) (an 487

press [E]oa (5] 4 (@) G

DISPLAY O 30.8 308 48 1.1108125 34208 865
Thus, h = 34.2, to 1 decimal place.





